PRODUCT-DETAILS

9ADA183-13
SCREW, DIN 912, M5x12

General Information

Product ID
ABB Type Designation
Catalog Description

9ADA183-13
Steel 8.8-A2F M5x12
SCREW, DIN 912, M5x12

Ordering

Country of Origin

Invoice Description

China (CN)
Poland (PL)
Sweden (SE)

SCREW, DIN 912, M5x12

Minimum Order Quantity 1 piece
Selling Unit of Measure piece
Order Multiple 1 piece
Quote Only No
Made To Order No
Stocked At Menden, Germany
(Warehouses) Espoo, Finland
Shanghai, China
Classifications
Customs Tariff Number 84799070
Part Type New

WEEE Category

Product Not in WEEE Scope




9ADA183-13

Dimensions

Product Net Weight 0.003 kg
Gross Weight 0.003 kg
Product Net Length 20 mm
Product Net Height 10 mm
Product Net Width 10 mm

Additional Information

Product Name

SCREW, DIN 912, M5x12

ABB Type Designation

Steel 8.8-A2F M5x12

Where Used (as a spare part for "Products")

Identifier Description Quantity le:stu?:
3HAC022288-001 No Description Available 1 piece
IRB 1400 M2004 No Description Available 1 piece
Where Used (as part of "kit")

Identifier Description Type
3GZE312090A1 PROTECTIVE ROOF KIT M2AA090 GEN E Kit
3GZE312090A2 PROTECTIVE ROOF KIT M3AA090 GEN E Kit
3GZE312100A1 PROTECT. ROOF KIT M2AA100-112 GEN E Kit
3GZE312100A2 PROTECT. ROOF KIT M3AA100-112 GEN E Kit
M3GZE312090A1 PROTECTIVE ROOF KIT 090 BLACK Kit
M3GZE312090A2 PROTECTIVE ROOF KIT 090 BLUE Kit
M3GZE312100A1 PROTECTIVE ROOF KIT 100 BLACK Kit
M3GZE312100A2 PROTECTIVE ROOF KIT 100 BLUE Kit
Product specific part data

Product Robot Part Location Robotics Part Category Category
3HAC022288-001 Base and Frame Misc Parts -

IRB 1400 M2004

Fitting/Gasket/Washer

Upper Arm Misc Parts -
Fitting/Gasket/Washer

IRB 1400-5/1,44

Categories

Robotics — Robots — Articulated Robots — IRB 1400 — IRB 1400-5/1,44

Robotics — Robots — Articulated Robots — IRB 660 — IRB 660



9ADA183-13

W



